



# Nonoscillation and oscillation of second-order impulsive differential equations with periodic coefficients

A. Özbekler<sup>a</sup>, A. Zafer<sup>b,\*</sup>

<sup>a</sup> Department of Mathematics, Atılım University, 06836 Ankara, Turkey

<sup>b</sup> Department of Mathematics, Middle East Technical University, 06531 Ankara, Turkey

## ARTICLE INFO

### Article history:

Received 24 June 2011

Received in revised form 4 September 2011

Accepted 7 September 2011

### Keywords:

Oscillation

Impulse

Half-Linear

Periodic

## ABSTRACT

In this paper, we give a nonoscillation criterion for half-linear equations with periodic coefficients under fixed moments of impulse actions. The method is based on the existence of positive solutions of the related Riccati equation and a recently obtained comparison principle. In the special case when the equation becomes impulsive Hill equation new oscillation criteria are also obtained.

© 2011 Elsevier Ltd. All rights reserved.

## 1. Introduction

Consider the second-order half-linear impulsive equation

$$\begin{aligned} (\Phi_\alpha(x'))' + p(t)\Phi_\alpha(x') + q(t)\Phi_\alpha(x) &= 0, \quad t \neq \theta_i; \\ \Delta\Phi_\alpha(x') + \beta_i\Phi_\alpha(x) &= 0, \quad t = \theta_i, \end{aligned} \quad (1.1)$$

where  $p, q \in \text{PLC}(\mathbb{R}_+, \mathbb{R}) := \{f \in C(\theta_i, \theta_{i+1}), f(\theta_i^\pm) \text{ exist}, f(\theta_i) = f(\theta_i^-), i \in \mathbb{N}\}$ ;  $\{\beta_i\}$  is a sequence of real numbers;  $\Phi_\alpha(x) = |x|^{\alpha-2}x$ ,  $\alpha > 1$ ;  $\Delta f(t) := f(t^+) - f(t^-)$  with  $f(t^\pm) = \lim_{\tau \rightarrow t^\pm} f(\tau)$ .

We will assume that (1.1) is  $\omega$ -periodic, which means that there exist a positive real number  $\omega$  and a positive integer  $r$  such that

- (i)  $p(t + \omega) = p(t)$ ,  $q(t + \omega) = q(t)$  for all  $t \in \mathbb{R}_+ \setminus \{\theta_i : i \in \mathbb{N}\}$ ,
- (ii)  $\theta_i + \omega = \theta_{i+r}$  for all  $i \in \mathbb{N}$ ,
- (iii)  $\beta_{i+r} = \beta_i$  for all  $i \in \mathbb{N}$ .

By a solution of (1.1) defined on  $\mathbb{R}_+$  we mean a nontrivial continuous function  $x$  such that  $x', \Phi_\alpha(x') \in \text{PLC}(\mathbb{R}_+, \mathbb{R})$  and that  $x(t)$  satisfies (1.1) for all  $t \in \mathbb{R}_+$ . Such a solution  $x(t)$  of (1.1) is called oscillatory if it has arbitrarily large zeros; nonoscillatory otherwise. (1.1) is called oscillatory (nonoscillatory) if all of its solutions are oscillatory (nonoscillatory). By a Sturm type comparison theorem [1] we know that (1.1) is oscillatory if and only if it has an oscillatory solution.

If  $\alpha = 2$ , then (1.1) is said to be an impulsive Hill equation

$$\begin{aligned} x'' + p(t)x' + q(t)x &= 0, \quad t \neq \theta_i; \\ \Delta x' + \beta_i x &= 0, \quad t = \theta_i, \end{aligned} \quad (1.2)$$

\* Corresponding author.

E-mail addresses: [aозbekler@gmail.com](mailto:aozbekler@gmail.com) (A. Özbekler), [zafer@metu.edu.tr](mailto:zafer@metu.edu.tr), [agacik.zafer@yahoo.com](mailto:agacik.zafer@yahoo.com) (A. Zafer).

as it reduces to the well-known Hill equation

$$x'' + p(t)x' + q(t)x = 0, \tag{1.3}$$

when the impulses are absent. Actually, the original Hill equation does not contain a damping term and has many applications in engineering and physics, including problems in mechanics, astronomy, and metal conductivity of electricity; see [2].

It is well known that if  $q$  is nontrivial and  $\omega$ -periodic of mean value zero, i.e.,

$$\int_0^\omega q(t)dt = 0,$$

then every solution of

$$x'' + q(t)x = 0 \tag{1.4}$$

is oscillatory. However, the same is not true for (1.3) when  $p$  and  $q$  are  $\omega$ -periodic of mean value zero as pointed out in [3], where the authors observe that

$$x'' + (\sin t)x' + (\cos t)x = 0 \tag{1.5}$$

has a nonoscillatory solution  $x(t) = \exp(\cos t)$ , while every solution of

$$x'' + (\cos t)x' + (\sin t)x = 0 \tag{1.6}$$

is oscillatory [4]. Related to this problem for (1.3) the following theorems are obtained in [3]. For a time scale extension, see [5].

**Theorem 1.1.** *Let  $p, q$  be  $\omega$ -periodic and  $Q(t)$  be an indefinite integral of  $q(t)$ . If  $q$  is of mean value zero, then*

$$[p(t) - Q(t)]Q(t) \geq 0, \quad 0 \leq t \leq \omega \tag{1.7}$$

*implies that (1.3) is nonoscillatory.*

**Theorem 1.2.** *In addition to the assumptions in Theorem 1.1, if  $q(t) \not\equiv 0$ ,  $p(t)$  and  $Q(t)$  are  $\omega$ -periodic of mean value zero and satisfy*

$$[p(t) - Q(t)]Q(t) \leq 0, \quad 0 \leq t \leq \omega, \tag{1.8}$$

*and furthermore*

$$\text{measure} \{t \in [0, \omega] : [p(t) - Q(t)]Q(t) < 0\} > 0, \tag{1.9}$$

*then (1.3) is oscillatory.*

Next, let us consider (1.1) without impulses

$$(\Phi_\alpha(x'))' + p(t)\Phi_\alpha(x') + q(t)\Phi_\alpha(x) = 0. \tag{1.10}$$

In [6], Došlý and Elbert proved that if  $p \equiv 0$  and  $q$  is nontrivial and periodic of mean value zero, then (1.10) is oscillatory. An extension of Theorem 1.1 to (1.10) is given by Sugie and Matsumura [7] as follows, where  $\alpha^*$  denotes the conjugate exponent of  $\alpha$ , i.e.,

$$\frac{1}{\alpha} + \frac{1}{\alpha^*} = 1.$$

**Theorem 1.3.** *Let  $p$  and  $q$  be  $\omega$ -periodic and  $Q(t)$  be an indefinite integral of  $q(t)$ , where  $q(t)$  is of mean value zero, then*

$$[p(t) - (\alpha - 1)\Phi_{\alpha^*}(Q(t))]Q(t) \geq 0, \quad 0 \leq t \leq \omega \tag{1.11}$$

*implies that (1.10) is nonoscillatory.*

The proof of the above theorem is based on the fact that (1.10) is nonoscillatory if and only if there exist a  $t_0 \geq 0$  and a continuously differentiable function  $z : [t_0, \infty) \rightarrow \mathbb{R}$  such that the Riccati inequality

$$z' \geq (\alpha - 1)|z|^{\alpha^*} - p(t)z + q(t), \quad t \geq t_0 \tag{1.12}$$

holds; see [8].

It is a natural question to ask for similar results for impulsive differential equations of the form (1.1). In this paper, by using the tools of impulsive differential equations we provide some answers to these questions. It turns out that there is a substantial difference due to impulse effects.

## 2. Main results

First we recall that a sequence  $\{a_i\}$  is called  $r$ -periodic if

$$a_{i+r} = a_i \quad \text{for all } i \in \mathbb{N},$$

and of mean value zero if

$$\sum_{i=1}^r a_i = 0.$$

Let  $\{\gamma_i\}$  be an  $r$ -periodic sequence, and define

$$Q(t) := \int_0^t q(s)ds + \sum_{0 \leq \theta_i < t} \gamma_i.$$

It is clear that

$$Q'(t) = q(t) \quad \text{for } t \neq \theta_i; \quad \Delta Q = \gamma_i \quad \text{for } t = \theta_i. \quad (2.1)$$

We will assume in the sequel that  $Q(\omega) = 0$ , i.e.,

$$\int_0^\omega q(t)dt + \sum_{i=1}^r \gamma_i = 0. \quad (2.2)$$

Note that if  $q$  and  $\{\gamma_i\}$  are of mean value zero, then (2.2) holds. However, the converse is in general not true.

Denote by

$$J_{\text{imp}} = \{\theta_1, \theta_2, \dots, \theta_r\}$$

the impulse points in  $[0, \omega]$ .

The main results of this paper are as follows.

**Theorem 2.1.** *Let (i)–(iii), and (2.2) hold.*

*If*

$$[p(t) - (\alpha - 1)\Phi_{\alpha^*}(Q(t))]Q(t) \geq 0, \quad t \in [0, \omega] \setminus J_{\text{imp}} \quad (2.3)$$

*and*

$$\gamma_i \geq \beta_i, \quad i = 1, 2, \dots, r, \quad (2.4)$$

*then (1.1) is nonoscillatory.*

**Theorem 2.2.** *In addition to the assumptions in Theorem 2.1, suppose that  $p$  and  $Q$  are of mean value zero.*

*If*

$$[p(t) - Q(t)]Q(t) \leq 0, \quad t \in [0, \omega] \setminus J_{\text{imp}}, \quad (2.5)$$

$$\gamma_i \leq \beta_i, \quad i = 1, 2, \dots, r \quad (2.6)$$

*and furthermore*

$$\text{measure}\{t \in [0, \omega] : [p(t) - Q(t)]Q(t) < 0\} + \max\{\beta_i - \gamma_i : i = 1, 2, \dots, r\} > 0, \quad (2.7)$$

*then (1.2) is oscillatory.*

**Theorem 2.3.** *Let the assumptions in Theorem 2.2 hold, and denote*

$$k(t) = \exp \int_0^t (p(s) - 2Q(s))ds. \quad (2.8)$$

*If*

$$\int_0^\omega k(t)[Q(t) - p(t)]Q(t)dt + \sum_{i=1}^r k(\theta_i) (\beta_i - \gamma_i) > 0, \quad (2.9)$$

*then (1.2) is oscillatory.*

**Remark 1.** If the impulses are dropped, then by taking  $\beta_i = 0$  and  $\gamma_i = 0$  in Theorem 2.1 we recover Theorem 1.3 and hence Theorem 1.1 when  $\alpha = \alpha^* = 2$ . Similarly, Theorems 2.2 and 2.3 are the extensions of the oscillation criteria given in Theorem 1.2 and [7, Theorem 3.1].

**Remark 2.** We see from Theorem 2.2 that if  $q$  is nontrivial  $\omega$ -periodic and  $\{\beta_i\}$  is  $r$ -periodic, and (2.2) holds, then every solution of

$$\begin{aligned} x'' + q(t)x &= 0, & t \neq \theta_i; \\ \Delta x' + \beta_i x &= 0, & t = \theta_i, \end{aligned} \tag{2.10}$$

is oscillatory. This means that the well-known oscillation criterion for (1.4) is also true for the impulsive equation (2.10). In fact, we may allow  $q \equiv 0$  by replacing (2.2) with an  $r$ -periodic  $\{\gamma_i\}$  of mean value zero such that  $\gamma_i \geq \beta_i$  and  $\gamma_i \neq \beta_i$ . The problem for half-linear impulsive equation (1.1) when  $p \equiv 0$  and  $\alpha \neq 2$  is open.

**Remark 3.** It is seen from the results that the nonoscillation (oscillation) behavior of solutions can be altered by imposing impulse conditions. We see from Theorem 2.1 that the nonoscillation of the differential equation without impulses is necessary for the nonoscillation of solutions of the related impulsive differential equation. However, the same is not true for the oscillation of the equations as seen from Theorems 2.2 and 2.3.

**Remark 4.** Unfortunately, the extension of Theorem 2.2 to (1.1) is not possible by the same technique since Riccati type inequality (1.12) is not of the same type under a linear transformation unless  $\alpha = 2$ ; see the proof of Theorem 2.2.

### 3. Proofs

First we need a lemma which is analogous to the one given in [8]. The proof of the lemma is similar but require a Sturm type comparison theorem for half-linear impulsive differential equations, which is available in [1]. In the case  $\alpha = 2$  and  $\beta_i \equiv 0$ , see also [9] or [10, Theorem 7.2].

**Lemma 3.1.** *Eq. (1.1) is nonoscillatory on  $[0, \infty)$  if and only if there exist a  $t_1 \in [0, \infty)$  and a function  $u \in \text{PLC}[t_1, \infty)$  such that*

$$\begin{aligned} u' &\geq (\alpha - 1)|u|^{\alpha^*} - p(t)u + q(t), & t \neq \theta_i; \\ \Delta u &\geq \beta_i, & t = \theta_i \end{aligned} \tag{3.1}$$

for all  $t \geq t_1$ .

**Proof.** Let  $x(t)$  be a solution of Eq. (1.1) having no zero in  $[t_1, \infty)$ . It is easy to see that the function  $u$  defined by  $u(t) = -\Phi_\alpha(x'(t)/x(t))$  for  $t \geq t_1$  satisfies the Riccati type impulsive equation

$$\begin{aligned} u' &= (\alpha - 1)|u|^{\alpha^*} - p(t)u + q(t), & t \neq \theta_i; \\ \Delta u &= \beta_i, & t = \theta_i. \end{aligned} \tag{3.2}$$

Conversely, let there exist a function  $u \in \text{PLC}[t_1, \infty)$  satisfying (3.1). Define

$$\begin{aligned} f(t) &:= u'(t) - (\alpha - 1)|u(t)|^{\alpha^*} + p(t)u(t) - q(t), & t \neq \theta_i; \\ f_i &:= \Delta u - \beta_i, & t = \theta_i. \end{aligned}$$

From (3.1),  $f(t) \geq 0$  for  $t \geq t_1$  and  $f_i \geq 0$  for all  $i$  for which  $\theta_i \geq t_1$ . Thus we have the Riccati equation with impulses

$$\begin{aligned} u' &= (\alpha - 1)|u|^{\alpha^*} - p(t)u + q(t) + f(t), & t \neq \theta_i; \\ \Delta u &= \beta_i + f_i, & t = \theta_i. \end{aligned} \tag{3.3}$$

The corresponding impulsive differential equation is

$$\begin{aligned} (\Phi_\alpha(x'))' + p(t)\Phi_\alpha(x') + \{q(t) + f(t)\}\Phi_\alpha(x) &= 0, & t \neq \theta_i; \\ \Delta \Phi_\alpha(x') + \{\beta_i + f_i\}\Phi_\alpha(x) &= 0, & t = \theta_i. \end{aligned} \tag{3.4}$$

Let

$$k(t) = \exp \int_0^t p(\tau) d\tau, \quad t \geq t_1.$$

We may write from (1.1) and (3.4),

$$\begin{aligned} (k(t)\Phi_\alpha(x'))' + k(t)q(t)\Phi_\alpha(x) &= 0, & t \neq \theta_i; \\ \Delta k(t)\Phi_\alpha(x') + k(t)\beta_i\Phi_\alpha(x) &= 0, & t = \theta_i \end{aligned} \tag{3.5}$$

and

$$\begin{aligned} (k(t)\Phi_\alpha(x'))' + k(t)\{q(t) + f(t)\}\Phi_\alpha(x) &= 0, \quad t \neq \theta_i; \\ \Delta k(t)\Phi_\alpha(x') + k(t)\{\beta_i + f_i\}\Phi_\alpha(x) &= 0, \quad t = \theta_i \end{aligned} \quad (3.6)$$

respectively. Clearly,  $x(t) = \exp \int^t \Phi_{\alpha^*}(-u(\tau))d\tau$  is a nonoscillatory solution of (3.6).

Since

$$q(t) + f(t) \geq q(t)$$

and

$$\beta_i + f_i \geq \beta_i,$$

by the Sturm type comparison theorem [1, Corollary 2.2] for half-linear impulsive differential equations, we may conclude that (3.5) and hence (1.1) is also nonoscillatory.  $\square$

**Proof of Theorem 2.1.** We first claim that the function  $Q$  is  $\omega$ -periodic. Indeed, since  $Q(\omega) = 0$  we have

$$\begin{aligned} Q(t + \omega) - Q(t) &= \int_0^{t+\omega} q(s)ds + \sum_{0 \leq \theta_i < t+\omega} \gamma_i - \int_0^t q(s)ds - \sum_{0 \leq \theta_i < t} \gamma_i \\ &= Q(\omega) + \int_\omega^{t+\omega} q(s)ds - \int_0^t q(s)ds + \sum_{\omega \leq \theta_i < t+\omega} \gamma_i - \sum_{0 \leq \theta_i < t} \gamma_i \\ &= \int_0^t q(s + \omega)ds - \int_0^t q(s)ds + \sum_{0 \leq \theta_i < t} \gamma_{i+r} - \sum_{0 \leq \theta_i < t} \gamma_i \\ &= 0. \end{aligned}$$

In view of (2.1), (2.3), and (2.4), we obtain

$$\begin{aligned} Q'(t) &\geq (\alpha - 1)|Q(t)|^{\alpha^*} - p(t)Q(t) + q(t), \quad t \neq \theta_i; \\ \Delta Q(t) &\geq \beta_i, \quad t = \theta_i, \end{aligned} \quad (3.7)$$

which by Lemma 3.1 gives us that (1.1) is nonoscillatory.  $\square$

**Proof of Theorem 2.2.** Suppose on the contrary that (1.2) is nonoscillatory. We may assume without loss of generality that there exists a positive solution  $x(t)$  defined on  $[t_0, \infty)$  for some  $t_0 \geq 0$ .

Let  $u(t) = -x'(t)/x(t)$  for  $t \geq t_0$ . It is easy to see that  $u(t)$  satisfies the Riccati type impulsive equation

$$\begin{aligned} u' &= u^2 - p(t)u + q(t), \quad t \neq \theta_i; \\ \Delta u &= \beta_i, \quad t = \theta_i. \end{aligned} \quad (3.8)$$

Define  $z(t) = u(t) - Q(t)$ ,  $t \geq t_0$ . The function  $z(t)$  solves

$$\begin{aligned} z' &= z^2 + [2Q(t) - p(t)]z + Q^2(t) - p(t)Q(t), \quad t \neq \theta_i; \\ \Delta z &= \beta_i - \gamma_i, \quad t = \theta_i. \end{aligned} \quad (3.9)$$

By Lemma 3.1, the corresponding second-order impulsive equation

$$\begin{aligned} y'' + \{p(t) - 2Q(t)\}y' + \{Q^2(t) - p(t)Q(t)\}y &= 0, \quad t \neq \theta_i; \\ \Delta y' + \{\beta_i - \gamma_i\}y &= 0, \quad t = \theta_i \end{aligned} \quad (3.10)$$

is nonoscillatory. Let

$$m(t) = \exp \int_0^t \{p(s) - 2Q(s)\}ds.$$

Then we may write (3.10) as

$$\begin{aligned} (m(t)y')' + m(t)\{Q(t) - p(t)\}Q(t)y &= 0, \quad t \neq \theta_i; \\ \Delta m(t)y' + m(\theta_i)\{\beta_i - \gamma_i\}y &= 0, \quad t = \theta_i. \end{aligned} \quad (3.11)$$

On the other hand, since  $p$  and  $Q$  are  $\omega$ -periodic with mean value zero, the function  $m$  becomes  $\omega$ -periodic and hence there exists  $m_1 > 0$  such that

$$\begin{aligned} \int_{n\omega}^{(n+1)\omega} \frac{1}{m(t)} dt &= \int_{n\omega}^{(n+1)\omega} \left[ \exp \int_0^t \{2Q(s) - p(s)\}ds \right] dt \\ &= \int_0^\omega \left[ \exp \int_0^t \{2Q(s) - p(s)\}ds \right] dt = m_1 > 0, \quad n \in \mathbb{N}. \end{aligned} \quad (3.12)$$

Moreover, (2.7) results in

$$\int_{n\omega}^{(n+1)\omega} m(t)\{Q^2(t) - p(t)Q(t)\}dt + \sum_{n\omega \leq \theta_i < (n+1)\omega} m(\theta_i)\{\beta_i - \gamma_i\} =: m_2 > 0, \quad n \in \mathbb{N}. \tag{3.13}$$

It follows that from (3.12) and (3.13), respectively, that

$$\int_0^\infty \frac{1}{m(t)} dt = \infty$$

and

$$\int_0^\infty m(t)\{Q^2(t) - p(t)Q(t)\}dt + \sum_{0 < \theta_i} m(\theta_i)\{\beta_i - \gamma_i\} = \infty.$$

Applying the Leighton–Wintner theorem for impulsive equations [11, Theorem 2.1], we conclude that (3.11) is oscillatory. This contradiction completes the proof of Theorem 2.2.  $\square$

**Proof of Theorem 2.3.** Proceeding as in the proof of Theorem 2.2 we obtain (3.12) and (3.13) with  $m(t)$  replaced by  $k(t)$ .  $\square$

### 4. Examples

**Example 4.1.** Consider the impulsive Hill equation

$$\begin{aligned} x'' + \lambda p(t)x' + q(t)x &= 0, & t \neq \theta_i; \quad \lambda \in \mathbb{R}, \\ \Delta x' + \beta_i x &= 0, & t = \theta_i, \end{aligned} \tag{4.1}$$

where

$$p(t) = \int_0^t q(s)ds + \sigma \sum_{0 \leq \theta_i < t} \beta_i, \quad t \in [0, \omega] \tag{4.2}$$

and  $\beta_i > 0$  for all  $i = 1, 2, \dots, r$  and that  $p(\omega) = 0$ . Eq. (4.1) is nonoscillatory if  $\lambda \geq 1$  and  $\sigma \geq 1$  and oscillatory if  $\lambda \leq 1$  and  $\sigma < 1$  (or  $\lambda < 1$  and  $\sigma \leq 1$ ) by Theorems 2.1 and 2.2, respectively. Moreover, (4.1) is oscillatory if

$$(1 - \lambda) \int_0^\omega p^2(t)e^{(\lambda-2)\int_0^t p(s)ds} dt + (1 - \sigma) \sum_{i=1}^r \beta_i e^{(\lambda-2)\int_0^{\theta_i} p(s)ds} > 0 \tag{4.3}$$

by Theorem 2.3.

Let us consider a special case. We take  $q(t) = \sigma(2\pi)^{-1}$ ,  $\beta_i = (-1)^i$ ,  $\theta_i = i\pi/2$ , and  $\omega = 2\pi$ . Then  $r = 4$  and  $p(t) = (t/\pi - 1 + (-1)^{i+1})\sigma/2$ ,  $t \in ((i-1)\pi/2, i\pi/2]$ ,  $i = 1, 2, 3, 4$ .

After some tedious calculations we see that if  $\lambda = 2$  and  $\sigma < 0$ , then (4.3) is satisfied, and so

$$\begin{aligned} x'' + \{t/\pi - 1 + (-1)^{i+1}\}\sigma x' + \sigma(2\pi)^{-1}x &= 0, & t \neq i\pi/2; \\ \Delta x' + (-1)^i x &= 0, & t = i\pi/2 \end{aligned} \tag{4.4}$$

is oscillatory.

If we choose  $\sigma(\lambda - 2) = -2$ ,  $\sigma < 1$ , 39419, and  $\lambda < 0$ , 56548, then in view of (4.3), (4.4) is oscillatory.

**Example 4.2.** Consider the impulsive Hill equation

$$\begin{aligned} x'' + \sin(2t)x' + \cos(2t)x &= 0, & t \neq i\pi/4; \\ \Delta x' + (\beta + \cos(i\pi/2))x &= 0, & t = i\pi/4, \end{aligned} \tag{4.5}$$

where  $\beta \geq 1$ . It can be seen that conditions (i)–(iii) are satisfied with  $\omega = \pi$  and  $r = 4$ . Let

$$Q(t) = \int_0^t \cos(2s)ds + \sum_{0 \leq \theta_i < t} \sin(i\pi/2), \quad t \in [0, \pi] \tag{4.6}$$

where  $J_{imp} = \{\pi/4, \pi/2, 3\pi/4, \pi\}$ . Note that

$$Q(\pi) = \int_0^\pi \cos(2s)ds + \sum_{i=1}^3 \sin(i\pi/2) = 0$$

and

$$Q(t) = \frac{1}{2} \sin(2t) + \frac{1}{2} \begin{cases} -1, & t \in [0, \pi/4) \\ 1, & t \in (\pi/4, \pi/2) \\ 1, & t \in (\pi/2, 3\pi/4) \\ -1, & t \in (3\pi/4, \pi). \end{cases} \quad (4.7)$$

It can be easily seen that the function  $Q$  is  $\pi$ -periodic with mean value zero, and that

$$[p(t) - Q(t)]Q(t) = -\frac{1}{4} \cos^2 2t \leq 0, \quad t \in [0, \pi] \setminus J_{imp}. \quad (4.8)$$

Thus, we conclude from [Theorem 2.2](#) that (4.5) is oscillatory. We remark that if the impulses are dropped, then the corresponding Hill equation

$$x'' + \sin(2t)x' + \cos(2t)x = 0 \quad (4.9)$$

is nonoscillatory by [Theorem 1.1](#).

**Example 4.3.** Consider the equation

$$\begin{aligned} x'' + ax' + bx &= 0, & t \neq i\sigma; \\ \Delta x' - b\sigma x &= 0, & t = i\sigma \end{aligned} \quad (4.10)$$

where  $a, b, c$  and  $\sigma$  are real constants with  $b > 0, \sigma > 0$  and  $a \geq 2b\sigma$ . It can be seen that conditions (i)–(iii) are satisfied with  $\omega = r\sigma$ . Let

$$Q(t) = \int_0^t bds + \sum_{0 \leq i\sigma < t} (-b\sigma), \quad t \in [0, r\sigma],$$

then a simple calculation gives  $Q(t) = bt - b\sigma(i-1)$ ,  $t \in ((i-1)\sigma, i\sigma]$ .

We see that  $Q(\omega) = \int_0^\omega bds + \sum_{0 \leq \theta_i < \omega} (-b\sigma) = 0$ . Define

$$\mathcal{H}(t) := \{a - bt + b\sigma(i-1)\} \{bt - b\sigma(i-1)\}, \quad t \in ((i-1)\sigma, i\sigma].$$

Clearly,

$$\mathcal{H}'(t) = 2b^2(i\sigma - t - \sigma) + ab \geq b(a - 2b\sigma) \geq 0, \quad t \in ((i-1)\sigma, i\sigma].$$

So the function  $\mathcal{H}(t)$  is an increasing function on  $((i-1)\sigma, i\sigma]$ . Since  $\inf_{((i-1)\sigma, i\sigma]} \mathcal{H}(t) = 0$ ,  $\mathcal{H}((i\sigma)^+) = \{a - bt + b\sigma i\} x \{bt - b\sigma i\}|_{t=i\sigma} = 0$ , the condition (2.3) of [Theorem 2.1](#) is satisfied. It follows that (4.10) is nonoscillatory. Note that

$$x'' + ax' + bx = 0 \quad (4.11)$$

is oscillatory if  $a^2 < 4b$ .

## Acknowledgments

The authors thank the anonymous referee for his/her insightful comments.

## References

- [1] A. Özbekler, A. Zafer, Sturmian comparison theory for linear and half-linear impulsive differential equations, *Nonlinear Anal.* 63 (2005) 289–297.
- [2] W. Magnus, S. Winkler, *Hill Equation*, Dover Publications, 1979.
- [3] M.K. Kwong, J.S.W. Wong, Oscillation and nonoscillation of Hill equation with periodic damping, *J. Math. Anal. Appl.* 288 (2003) 15–19.
- [4] J.S.W. Wong, On kamenev-type oscillation theorems for second-order differential equations with damping, *J. Math. Anal. Appl.* 258 (2001) 244–257.
- [5] A. Zafer, On oscillation and nonoscillation of second-order dynamic equations, *Appl. Math. Lett.* 22 (2009) 136–141.
- [6] O. Došlý, Á. Elbert, Conjugacy of half-linear second-order differential equations, *Proc. Roy. Soc. Edin. Sect. A.* 130 (2000) 517–525.
- [7] J. Sugie, K. Matsumura, A nonoscillation theorem for half-linear differential equations with periodic coefficients, *Appl. Math. Comput.* 199 (5) (2008) 447–455.
- [8] O. Došlý, P. Řehák, *Half-Linear Differential Equations*, in: North-Holland Mathematics Studies, vol. 202, Elsevier, Amsterdam, 2005.
- [9] A. Wintner, On non-existence of conjugate points, *Amer. J. Math.* 73 (1951) 368–380.
- [10] P. Hartman, *Ordinary Differential Equations*, John Wiley and Sons Inc., New York, London, Sydney, 1974.
- [11] A. Özbekler, A. Zafer, Leighton–Coles–Wintner type oscillation criteria for half-linear impulsive differential equations, *Adv. Dyn. Syst. Appl.* 2 (2010) 205–214.